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Characteristics of a residual plot that implies there is a linear relationship are:
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Calculating:

The line of fit for the following data is y = x + 9. Find the sum of the residuals.
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Use the graphing calculator to find the linear model for the following points:

((1.2). (2.1). (3.3%4), (4.3). (5.4%)!
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| & Scatter Plot Points:
{(1,2), (2,1), (3,3%), (4,3), (5,4)}

® Regression Points
{(1,1.4), (2,2.1), (3,2.8), (4,3.5), (5,4.2)}

The Red Line Segments:

The red line segments represent
the distances between the y-values
of the actual scatter plot points,
and the y-values of the regression
equation at those points.

\ \ ,MathBRs.com,  The lengths of the red line
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Analyze the the residual plot for the same data as above.

Turn on Plot2 under the STAT PLOT menu
Use L1 for the Xlist and RESID ofr the Ylist
Get RESID by pressing 2™ [STAT] and select RESID from the list of names

Graph the residuals by pressing [ZOOM)] and choosing ZoomStat (9)
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Is there a pattern?



